f
0%
o
>

_ 1003 x 1005 + 1 .
A& o]-8-5tof BTV = Aitstolet,

1004

(1004 - 1)(1004 +1) +1 _ 1004 -1 +1

1004 1004
= 1004




2.  (a+b)(a-b)=a*-b* = &5t Axtstr] 7 Lod

D)18 x 22 @ 51x52 3 992

@ 302 x 403 ® 1032

B

@ 18 x22 = (20— 2)(20 + 2)

@ 51x52 = (50 +1)(50 + 2)

® 992 = (100 - 1)?

@ 302 x 403 = (3 x 100 + 2)(4 x 100 + 3)
® 1032 = (100 + 3)?
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0]-85}o] 14.98 x15.02

@ (x+a)(x+b)=x*>+(a+b)x+ab

@ (x+a)?

X2+ 2ax + a®

=x%2 - 2ax +a?

® (x-a)?

x2 —a2

@ (x+a)x-a)

® (ax+ b)(cx+d) = acx® + (ad + bc)x + bd

(15 — 0.02)(15 + 0.02)

152 — 0.022
225 — 0.0004

224.9996

14.98 x 15.02




® n(a+b)(a+b)
® n(b-a)(b-a)
® n(a+b)(b-a)

B

@ n(a-b)(a->b)
@)r(a+b)(a-b)

(A 9] ol

<2a+2b)2x 1,
2

=S {@+b-a® +8%)

- g(2ab + 2b2)

= n(ab + b?)
(B 9] |el)

2 2
_71'
)

T

{(a—l—b)2 +a? —b2}

(2ab + 24?)

3 N

(ab + a*
- A

[

oo}

(@ - ?)
(a=b)(a+b)

2a+2b\?% 1 1 1
:7T< @ )x—+7ra2><——7rb2><—

2

)
n(ab + a*) — n(ab + b?)




